
 

Right-Click Graphic for Options 

Item Current Part Description Replaced 
Part Qty Notes Kits/Assys 

Where Used

1 K-3376 O-RING & 
WASHER KIT 4301211 1

2 18299 PIN 1 K-1476, K-2977, 
S-1677

3 X-8C-604 CAPSCREW 4 3/8"-16X1-
1/4" See List

4 X-1-600 NUT 4 3/8"-24-
N.F.PLAIN

5 X-3-600 LOCKWASHER 4 3/8"

6 11934 STUD 7467 4

7 K-1476 SHIFT LEVER 
HSG 4530 ,17163 ,18298 ,4304905 ,A - 4437 1 LOW TOWER

8 4305294 GASKET 4303431 1 See List

9 K-2977 SHIFT LEVER 
HSG KIT 4301167 ,4304907 ,A - 6040 1 MID TOWER

13 4303030 PIN 1 K-2973, S-1579, 
S-2130

Página 1 de 2Eaton Inforanger

29/05/2012http://www.inforanger.roadranger.com/epc/print.asp?modelID=189&groupID=279



13 6541 PIN 1
3/8" - USED 
W/17167 
ONLY

14 K-2973 SHIFT LEVER 
HSG KIT

17166 ,17167 ,4303050 ,4304910 ,K - 
1630 K - 1941 1 HIGH TOWER

15 10427 BOOT 1 See List

16 X-1-600 NUT 1 3/8"-24-
N.F.PLAIN

17 X-3-600 LOCKWASHER 1 3/8"

20 17600 GEAR SHIFT 
LEVER 1 STRAIGHT - 

LOW 21-1/2"

20 18482 GEAR SHIFT 
LEVER 1 STRAIGHT - 

HIGH 35"

21 2538 RETAINER 1 See List

22 2536 SPRING 1 See List

23 K-2428
LEVER 
REPLACEMENT 
KIT

1 LOW TOWER

23 K-2429
LEVER 
REPLACEMENT 
KIT

1 HIGH TOWER

23 K-2978
LEVER 
REPLACEMENT 
KIT

1 MID TOWER

24 S-1579 SHIFT TOWER 
ASSY 1 HIGH TOWER

24 S-1677 SHIFT TOWER 
ASSY 1 LOW TOWER

24 S-1967 SHIFT TOWER 
ASSY 1 MID TOWER

33 S-2129 SHIFT LEVER 
HSG ASSY 1 LOW TOWER

33 S-2130 SHIFT LEVER 
HSG ASSY S - 2053 1 HIGH TOWER

33 S-2519 SHIFT LEVER 
HSG ASSY S - 2919 1 MID TOWER

 

Página 2 de 2Eaton Inforanger

29/05/2012http://www.inforanger.roadranger.com/epc/print.asp?modelID=189&groupID=279


